First iteration nl=0
Variable: x
Type: float
Total Size: 15672824 bytes
            3918206 values
Number of Dimensions: 3
Dimensions and sizes:   [673] x [71] x [82]
Coordinates:
min=3.08268e-05   max=100
===
nl=0 Elapsed Time=31.7092
nl=1 Elapsed Time=32.592
nl=2 Elapsed Time=32.0471
nl=3 Elapsed Time=30.8403
nl=4 Elapsed Time=32.4311
nl=5 Elapsed Time=33.6249
nl=6 Elapsed Time=39.0581
nl=7 Elapsed Time=287.837
nl=8 Elapsed Time=71.9761
nl=9 Elapsed Time=71.3922
nl=10 Elapsed Time=74.2847
nl=11 Elapsed Time=80.7587
nl=12 Elapsed Time=75.8755
nl=13 Elapsed Time=73.0269
Killed
[bookmark: _GoBack]Second iteration nl=25

min=3.08268e-05   max=100
===
nl=25 Elapsed Time=31.3272
nl=26 Elapsed Time=31.2472
nl=27 Elapsed Time=31.6212
nl=28 Elapsed Time=30.4154
nl=29 Elapsed Time=33.12
nl=30 Elapsed Time=33.6129
nl=31 Elapsed Time=42.6875
nl=32 Elapsed Time=272.76
nl=33 Elapsed Time=68.4966
nl=34 Elapsed Time=76.3474
nl=35 Elapsed Time=74.6946
nl=36 Elapsed Time=78.5041
nl=37 Elapsed Time=82.2795
nl=38 Elapsed Time=75.5645
Killed
